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Wvg —3/ SECTION-A

a%jis y¥1 /Objective Type Questlons
w¥7 gear 18 40 75 B g wEr @ any o Aewy Ry 7 & R @

e e &1 I

ENT 57 7 T BT @ OMR - e w7 RfEa avi (40X 1=40)

ct. Tou have to mark, your selected

Question No. ! to 40 have four options, eu af which only one is corey
(St x=40)

aplion, on the O.liR - S‘heﬂ.

L Sfwme # v R ofew 3 Re ar &1 T -

(A) o TGN 4 & W 1 (M oRaRfa T Ea E
(€)  agd R a avm 2 D T
At th:lirn-;.- nf overloading, the eleciric currem in the circuit -

(A) reduces substantinlly IH:; does not chunge

(C) increases heavily (D) none of these

2. @M - | GOREIT O Eild 27

(A) 9T 8 {[qE-a) (B) TfvEm Fal w
(€) o T Toil Him D)  F 8 ard T
Which is the conventional source of encrgy?
(A) Bio - Mass (1 Nuclear energy source
(C) Geo — thermal energy source (M None of these
3. R affam & R fRD e 4 aiferior @ o FEATN 27
(A) IR (By AU
(C) =Ry 1 H T ;
M =W @ A

The gain of oxygen by a substance during chemical reaction is called -

woo Apnisqasq-mmm//:dny

(A) Reduction (I3) Oxidation
C .
{C) Corrosion (D) None of these
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)
 found in plants?
Which one of he following is the growth hormone fous
ic 0
A} Gibberellin

(B Adrenaline
(€ Insulin

(M Thyroxine

The Tesistance of Conductor does ey depe

nd on - htlp://WWW,bsebstudy.COm
{A) length of conductor B cros rectional ure
(€) Temperatyp of a conductor D Flectric Current
conductor
T™ B 1o o e TR vy 2
W R gy W) g
€ oy M Fe
Vhich stare has "Surangam waler han‘cxling S¥stem?
(A) Himachy Pradesh (R) Tamil Ny
(C) Kerala (m Karnatyp
T W o ey TR &2
(A) e () RSy DT
© o m TN Fafis
Whicl i, a play hﬁrmunc?
(C) Oestrogen
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B, R o A gATRMAT B I wem ot 8-
TSRS e w
i m 4
The maximum number of electrons in a shell is -
EVE @ 20
© W m A
9. ¥ % m B A g Aol ) afin s e g 87
C(A) FFm P aed g ® (1) o IAF AW
() AdEA M e waw
Where does. the most of refraction for light rays entering the eye, occurs?
(A) on the outer surface of cornea {®) on Lthe eye-lens
() in agueous humour (D) on the reting
0. F W eEEeET vaa Wwa s 87
(A) o AR m P
(€ T m A
Which hydrocarbon is the simplest compound?
(A) Methane (B Ethane
{C) Propane (M Butane
11 argesd § yorg @ B W 3 (@) 3RE g e @
(A) ¢ O (13) Aen
(€) g D) T
Which colour of light scatters more in atmosphere?
(A) Red (B) Blue
(C)  Yellow (D)  Ornge
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Comvwrh wg 1] Saphilin

Wt

L A

iy

LA (R

| vy

Platclens

im AL oof these

:-.Tn‘lr" » ."‘":: feny B2

i g ey

i g A ad af

Which compoment o f the Bloasd bedps 10 Mopring blood leakape?

1{]] Mlasma

D None of these

15, et 4 a LRE I o I T et B2

I“' . r' '“' IT

Which one of the following represents dwarf plany»

tA) T (B) (T

W] ] (D) 1T

16 3 3 3 gy O DA o e
(A) » Fym
(B 7
({ T = m: g
Which one of the T, ollowin |
B 15 a bisexyg) / hermaphrodite an: ?

" B e animg)”

© oo o
B () Goal
[212]D T

Paqesol 16

http://www.bsebstudy.com

woo Apnisqasq-mmm//:dny



wod Apnysqasq mma//:dny

b vt & A Cew

http://www.bsebstudy.com

P Rew P

woo Apnisqasq-mmm//:dny

iR}y ¢r-
im '
D -
. o
Wiad ’
e oof (g fuﬂ.-m; v bs e Wagy - .
(LN Aw
3 i1 W atry
(1 & (it
iI‘l I' it r,'l
1% Py 8& o™ m eog oy *
W Ve -1 i 4]
R \' = T
({ & ] ValR P . -
Whach bt 0 the followne 1o e
i \’:: .I. ‘) ., R
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IO V= IR 14]] Vo= ”{}
p. 577;-* fax=m & -
'A) guideuE A (B s A
() T A (D) CEE I
The spinal cord onginates from -
(A) Cerehrum (B) Cercbelium
(C) Pons D) Mcdulla
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2. WD da g o arndA S| s ain R

m A
) Mg
Y
What is S1unit of magnification produced by a 'c":' m
C
'.i\l n ‘ ” U il |t'“
() mm D) "
R wmr seffes w am e ¢ -
(A) * $0mm B 100mm
©  120mm D 130 mm
The norma diastalic blood pressure is -
(A 80w (B) 100 mm =
©  120mm D) 130 mm 5
B BR 3 2 o g o e o 2 =
A) Al (B) Na é
C) oCu D)  Fe -
Which metal of the following has the lowesy melting point” §_
() Al ® N =
€ o M Fe &
Iyﬁnnm T IR 3 1 47 Q
) M_' Ca0 (B Caon), 3
What is the chemica) formula for marhle?
:;: g ago B Cyo),
ALy D Noneof these
25, qu&nmﬁmma&mﬂMmiqmmmp
(A yTw R ® "o ey
€)  » WRTH Ny "?’ %
The canth is shielded by 0zone fayer from which harmfy) rdatiog?
(A)  Infra-red B
() Ultra - violet (D) All of these
212]D
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avs —a/ SECTION-B

Hfirs area /Physlcs
#M,myamwma'mz%

T waw 1 & 8 oy oy gra &1 5

parsupy foz=s)

- y tion ]
Question No. I to 8 is short answer type. Answer any 4 questions. tinch question carries 2
marks (Ix2=3)
1. oo™ @ amyta Aost @) )
State the laws of refraction of light.
2. A e e @ aa g 82 (2)

What is tneant by power of accommodation of the eye?

e, R wReel § Sofiem daom w1 v Tt w8 Re e &2 2

L

Why is the scrics arrangement not used for domeslic circuit?

4. walen & wva g T At vl Qe & 2

Why does the sun appear reddish during sunrise?
5. 50 cm sarf 1 3¢ AT 30 em T B B B SR A B R 20 A W (2
@ T @) afefda @ Ruf, gy ok Wsw s A "
An object 5.0 cm in length is placed at a distance of 20 cm in front of a convex mirror of

radius of curvature 30 cm. Find the position of the image, its nature and size.. -
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gyn 87
31, I sl e m e 6 v my A
(A) . infell "” m ﬂ ifr}g ;{ﬂ
(ol
Iew does the \hy apper to an astronaut? W Bl
(\) Dark ) None of these
() Red | )
L} 2 .manu-rulmmnj:«ﬂn‘lﬁnﬂmmwu -
IH) i'
(A) U M ¢ 7f]
(€) oM i ) ‘:‘" 3w
Haw many honds are formed between the two paygen aloms. y
(A)  Single Bund (D) E:oublcl;t;
(C)  Triple Bond (D) Noneof these
N, - oy e @ orER O3 e Sy  ar 87
(A) « TR (o) (B) i’!'ﬂﬂ
(€)W | )  wfew
Which non - metal is found in liquid state at room temperature?
(A) Mercury (B) Bromine
(C) Sulphur " (D)  Sodium
M. =l dvr @ fog amvaw 8 -
(A) o uofefm (B) ¥ I
(€)  wTd FgalteEs (D) WA
The avtetrophic mode of nutrition requires -
(A) Chlorophyll B) Sunlight
(C)  Carbon divxide 3 M)  Allof these
B PEddoR-mamg 8?2
AN In B) G
C) o Ge (D)
Which one of the following is a metalloid?
0 G (D)
[212] D Page 10 of 18
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36, e A QA= TEfam qm &2
RY) ST 4
© i qm
Which one of
(A)

(B) IR ym
(m  fEE

the following is unisexusl Mower?
Hibiscus Nower

y (B) Mustard flower
1y Pupaya Now gy

Y. 2w o N Rose Nower
TR TR @ RN T - v v g 8 -

(A) H14m

(© (B) ¢ =TT

Tootho. _E'“ KR ‘ ) A w Al

Oothpaste for cleaning the teeth are generally .

(A) Basic .

() Salt (B) Acidic

e y (D) None of these
38, (Alkanes) &1 wrry e -

®

(A)* CHa.: (B)  C.Hs

‘C] ClH:’l-l 11} Cull:'n]

The general formula for an alkane is -

tl‘l Cl"!no! (B Cn":n

‘C’ Cnl':.b-l ll)! C-H:::
9. F= A A fva Tdn A Wida g oew Bd 2

(A) uad Tdm B I T

(C) = e v WA

Which one of the following mururs has positive foval length?

(A) Plane mumror (B) Convex mirror

/ he
(L] Concave mimor (1] Al of these

0. B2 aaw - m @ I o ¥

(A) T

€)  ofas M "
' : wuree !

Which ane of the following 183 clean enefg)

lB] “’l‘ll’
(A) Coal D Al of these
(C) Natural gas

(B) JTA
M TR AW
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¥ Rt g3 ¢ -
(A) NaHCQ,
(C) CH(OH)- (B) @ Na:CO;.10H:0
The Chemica] f“r:nula for washi (D) 3’1"7! % iﬁg "Ta
(A) NaHCo, g sodais - :
(C) Ca(OH), (B)  NaxCO, 10H:0
FHRT 18R Ry (D)  None of these
PH ™Ry @ .
(A 40 ag 9 T a7
(©)  so0ss B) s0dss
Within which PH ran D) o470WR 78
g€ our b '

(‘\) 4.0 104 8 T My works”?
(C) 6.0106.8 M) 50w058
Rem smm v s) T & D) 701078
(A) O |
(C) Mz B m
What is SI unit of clectric charge? (D) Tl
(A) Volt -
()  Ampere ‘ Otvum

1) Coulomb
R aera & Sy f¥a oo § R T &
() Ry s (B) o fem wfyn
€ W M A¥ies
In which device, the split ring is used?
(A) Electric Motor (B) Electne penerator
(C) Ammeler i Galvanometer
aﬁlﬂw:ﬁmaﬂmm#ﬁ?ﬂ*ﬂﬁmmmv
(A) 5 B) s
How many electrons are there in the outermost orbat of an atom of chlorine?
(A) 5 (B) 6
© 7 U
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. m’:*mﬁmﬂl’ml @
‘*n‘mu:'\kﬁ-—hmmle_
% g
W*%Wﬂaﬁsﬁmlmtdp @
Why are we ““msllll'ﬂn.ne “WTCes of encrpy?
2 gt gy |
I e *wamﬁmnmmmv @)
Why ™o magnen llmnfﬁ'l'ttthmmlﬂ\c{lnchuhﬂ"

A Sy ¥¥3/Long Answer Type Questions
mm;mmwmmmm#wwarmw (ex1=g)
Ouestions No. 9 and 10 are Long Answer Type questions. Answer any one of the
Jollowing,

(6>d=6)
9 %%m%%ﬂiﬁlmmwmmﬁ'%mﬁ

Draw a labelled diagram of an electric motor, Explain its prlncipl:mdumking,\\'hmislhc
function of split ring in an electric motor?

10. ﬁgaﬂhaaytz?ﬁmﬁﬂ:l’ktwﬁ&ﬁrzﬁmwﬁ@ﬂmlmtm
% W= o ) A A

What is electrio power? Derive H = R, where H is the amount of heat produced by steady

Current | through a resistor R in time L.

——

E"?] D 2ano 130l 1R
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AN/ Chemistry 01 e 8 e
Ml (Y drrqwﬂcm!:rﬁdwlﬂ"“’w

Ve i # (4xo=4)
!
‘ach guertion carriey
(wvertion No, 11 10 17 is lhﬂlmmnrf. Amiuer any 4 qunrtiont. Each g
2 (] _ (Inlzy)
mardy,

¢
I 408 N D gy9¢ Make 4 gem am @ W Q3T W o T Ty o b]

| ni?
Why des the colonr of voppet sullate solutron change when an inn nail is dipped |

12, ummrnammmmp? 2)
What 4o you mean by a previpttation reaction *
1 i‘mwwﬂhﬂ#mwwmeuhdwﬂnml’ (2)

Why acids o Mo show acndic hehas i i the abnenve of water?

W oo yfifym 2 W i mmefys utem -
RALEIILS B LR S e N, &
Ry T mgstenta e A "8 &y R wwn B

Wate halanced chem) *quathons for the reaction aking place when -
(A)  Dilure Sulphune acud reacts with Zing

(BY  Dilute Hydnahlon, acd reacts with Magnesium ribbon,
IS, mﬂmmﬁmuﬁt&mmﬁ&mmmv
What happens when metals react with water?

16, m«:ﬁﬂmn?m*mm,

(2

wod Apnysqasq mma//:dny

(2)

(2)
What is humologous series? Es plain with an example.

17. (A} Agomm @ sm o augs 4

What Jo you miean by valency?
(B)  8RSfirgs #) W R
Write the valency of Magnesium.
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Questinn,

Aniwe, Type questiom, Amwer any one of the
Jollowing, (Sx]=$)
1%, I-’Ir-'lf?"lf;’*l"l iy M LUEC o UCRET R (5)
gy ey
(TR L & ) ey
(v)  Qeq

Wite the Mructur) formuly fur the (llowin

B compaunyy,,.
(1) Mcthane

M Eihane
) Propane W) Buane
) Pemane
19, B mat oy wftg o (5)
) ufry (i s
(i) i liv) P
vy wiy
Definc the following 1crms.;
) Minera| (iiy  Ore
() Gangue liv)  Calcination
V) Roasting
[212]D Page 1501 18
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Sfafdsna / Biology
F¥Y 7551 20 & 26 &y avwidz cvx &1 g0 @ B ¢ TFR B goe 27 odw ® AT 2

Vo Pt 2/ f2=s)

Question No. 20 ta 26 it short answer type. Amwer any 4 questions. Each question carries
2 marks. ($:2=3)

20, a3 a7 e 2 T NAT amd ) (]

Mention two differences hetueen *Adery® and *Vem'.

1. wtEE g 3 am o Fm @2 12

What are the tunctions of Jigestive ensymies”

22 wRT & FF M 4t I o oTea #4 g 82 Q2

How are water and nunerals imnsported in plants?

23, 7T} TETada A gaw g @2 ()

Huw does photatropism oceur in plants?
. EE A w3 A 3 e
Draw a labelled dhagram of female reprstuctive system.
28 ﬂﬂﬁmmﬂﬁﬁt'mﬁmaqmﬁ?
* Towdowe Bt 10 hnow how ol the fonsils age?
6. I o A A1fy o (g e @ feom am @
Why depletion of azone Layer is threat ta us?

" adn v/ Long Answer Type Questions
7¥T woRr 27 Mt 28 <hd ity e &) prd @ A ow o o 2) fx1=3)

Questions No. 27 and 28 are long Amwer IYpe quations. \mwer eny one of the
Jollowing. (Sx]al)
27. w ofrm ofter () ) amefday areen R w1t ) v oot oy

X

Draw the well latellead stnnture of a neurvg and eaplain ity fumnions
28. WY VEEA OV 42 erad purtdhor AT ot 03 g and 31 gea T
Draw a well lahellad diapram of human fespratiwy syatem and evplam i functang

- ST RS ens s cne v acae

5

15)
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